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Use the node-voltage method to find v; and v».

SOL'N: We <sum +the currents out of each node.
v, node: —9AmA + v, + 7 = 0A
10 Ksw
Vo node: T 4 yao YdmA = O0A
20K s

The ¢ rePresen-l:% an  unkKnown current

Howlmj from left %o right n the 2%V
dourde. What we have endountered is

a Supernade. For this we use a new
methsd of <solution: we Adraw a bubble
O\roumal -H\e, Vi, and Vs nodes omol 24V source.
Then we sum the currents out of Hhis

bubb le.




The sum ofF currents
nede (s as  fellows:

~ + vV, 4+ Vg +M=OA

0K 20k

out ofF the Super=

Nete +hat +hig ecb’n s +the sum of +the
Lirst a@fﬂs set dewn in +this solution.

The SU\FG.\"nOO\e eﬁ’n is onL)/ one eg%

for  twoe nodes, leaving us in need
of ancther eg W for these two nodesd.
The soluken +o *his Pro'lo lem s +o

write a Voltage egh  For the two nodes.

Note: TIn +khis eg’n we have +V, and =V,
w ith ',éa’(,ﬂns ]oe'mﬂ the <game ag the

3'L,jn h the 24V gource next Lo
+the pode.

New we selve our +we eﬁ‘hs, MuH:iPLyLnﬂ
the E@'n at the -EoP ot +he page by 20k%
yi.el.a{'s +he -f—o[,LowLnﬂ eﬁfq:

2.V1-\— vV, = oV or V’]__‘;_ZV]

Us'mg this in our other eﬁ;’q yields v :
Ul"' (—’?_V') = 24V or Vy = %__L_’(__V = 8V
3



